
Semester 2 Extra Practice #1 
1. Let andxxgxxf ,2)(,1)( 2   

123)( 2  xxxh . Write a simplified 

expression for each function in standard 
form. State any domain restrictions that 
apply. 

a. hf   

b. hg   

c. gf   

d. 
h

f
 

e. gf   

f. )2(gh   

2. Find the inverse of each function. 

a.  )8,2(),5,4(),1,3(),6,2(    

b. 5)( 2  xxg  

c. 6)1()( 2  xxf  

d. 94)(  xxh  

3. Simplify. 

a. 

2

15

3

15

5


 







ba

ba
 

b. 3 84927 zyx  

c. 
3 6

3 24

32

8

xy

yx
 

d. 
31

32




 

4. Write using exponents: 

a. 4 6230 bca  

b. 9 31232 )6( zyx  

5. Write in radical form and simplify:  

a. 3

2
52 )4( zxy  

b. 8

3
2 )2( ab  

6. Solve. Check for extraneous Solutions: 

a. 413 y  

b. xx  362  

c. xx  36  

d. 9)12( 3

2

x  

e. 323  xx  
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1. a)   224 2  xx  

b)   33 2  xx  

c)  22 23  xxx  

d) 
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1
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e)  34))(( 2  xxxgf   

f)  1  
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4. a)  2
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b)  43

\2

3

1
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5. a)  3 23 22 yzxyz  

b)  8 638 ba  

 

6. a) 63y  

b)   9x  

c)  No Solution 

d)  x=13, x= ‐14 

e) x= 2 

 

 

1. a)   224 2  xx  

b)   33 2  xx  

c)  22 23  xxx  

d) 
3

1
,1:;

13

1





xD
x

x
 

e)  34))(( 2  xxxgf   

f)  1  

 

2. a)  )2,8(),4,5(),3,1(),2,6(   

b)   5)(1  xxg  

c)  61)(1  xxf  

d) 
4

9

4

1
)(1  xxh  

 

3. a) 
4

49

b

a
 

b)   3 2233 yzyzx  

c) 
2

3 2

2

2

y

yx
 

d) 
2

533 
 

 

4. a)  2

3

4

1

2

1

4

1

30 cba  

b)  43

\2

3

1

6 yzx  

 

5. a)  3 23 22 yzxyz  

b)  8 638 ba  

 

6. a) 63y  

b)   9x  

c)  No Solution 

d)  x=13, x= ‐14 

e) x= 2 

 


